B71E P ELIRE SRR FHERESFFE 1020 B AR LB RFEASPE#RX FES [17501801]

2%+ 23— TANAR—Y 8 — sl LB (i & BB AR BFiE) [311010] W e e e
2017/08/19 ~ 2017/08/20 0o x % H B e %
7R HE EH HiE
o OE £ g B
H A A A 27 307 A7 507 6{i7 0 8{ir
SH 190 %87-100m FRRI HE(3) 10.65| LA ii(3) 10.66|fAf2  FEHE(L) 10.67| iy FEHL(2) 10.67| K fEA®3) 10.69|AH# SE ] 10.72| B H - HER(4) 1076k L1 K 10.78
JT.:+0.9 5 B SBogdbE PN RN e JA B EER o] L o (L R 5 BCHIBKR ([t J AR A I TP PN ] L i [HAC
8 F20 %7-200m AR FARE(D 2144 ##E iLR(B) 21.44|% FE—ER(4) 2149011 | (2) 21.52)/A (ML) 21.58| 1R BA=H(3) 21.63[FFAR BB 22.03
J2:+2.2 I B KR Ji e THNIAEL B AR ER A PN TN EIEPNTN P E ST (I [-0PC
8519 5 7-400m HH KE&EQ) 48.16|FHFH FE(3) 48.75EE  BkEI(M1) 48.80 |finlk  FaB(4) 48.91 | FH-(3) 49.258% 24T(3) 49.38|{FiE  KHh(2) 49.80 (@ ft #a=1(3) 50.56
] L BROKSEER o] L ] R RPN TN Js B EBERGEKR I B BRREER ] L= e I B IR ESEER o] Ly o (LR
8 H 20 5 7-800m /IR FH(3) 1:53.03|FJ5 FER(Q) 1:53.24 %8 (1) 1:53.37|% K ELC 1:53.47|R81L I 1:54.93| A $HH1(3) 1:56.95|= % 1EHH(2) 1:56.99| [ H 1:57.58
IS ikE AR B AR BRATEER I B BRRHER (L O BEERFAKR I=RispN ER N S-FN s 5 TN B IETE R [ 111-OUF
$H19H % 71500m TR BERQ) 3:53.22|(F 4 H  EEIRQ2) 3:55.39| - £(24) 3:57.75|t&1E Bk 3:59.53 &R FEAR(2) 4:06.46 /MK EKER(3) 4:09.47| AR 1% 4:12.40|7F 4 {2 4:13.20
B RCBRAEER I Bt AE I FEJR R B AR YR o] 1L ol (LA S AR - BEGE o] L - ] L P ] (L« B IHAC
8H19H 5 45000m i A B CL(33) 14:09.97 [fak) Piz Bl 14:41.55 (@1 Bk 14:46.18 (B AR 14:56.72| % &HXK(©22) 15:05.81 J&#E & 15:09.52| HJEAR 552) 15:14.20(#x F W=z 15:40.99
Ji e EE 5 B JFERAF— )L B AR ALY (e I~ e B TR (e I 5 BRRTER 5 I AR T
8A19H 410000 IAPRIE . i) 30:58.04| &I FHK 32:22.64|FHEE EAC 33:20.24[/Mk BE—ES 35:19.02| KB —&E(2) 36:50.80| & & WIE 38:43.93
I ke JFEATF— )L (o E g R JA EeHETL B AR TR AR - BEGE AR HHERT
8 A 190 Br110mH(1.067Tm)  |EH FEIKE) 13.81|fsH £L(3) 14.14|F 5> fik 14.24| E&F #EF](3) 14.37|5F 1 (1) 14.40| 11 F ARAE(2) 1441 (@A BEQ) 14.58|#1H 3 A(3) 14.77
JT:+1.4 5 BUCERE R B IR-BHES (- R ] 1L~ BEPE PR R 5 B EBEREXR [ (LA N e SIS 1PN
85 20H 5 7-400mH(0.914m) HE BK4) 50.77| 5 H HEQ2) 51.13|IUAR FH(4) 51.70(1iH yEH 52.35| BV IRy A (4) 52.63[H (A 53.04[1ILH  ZEHE®3) 54.27fnEE HE®4) 54.56
' ] L= e AR R ] - BOEEE JA B BAFESEBER I =Ryiy=)ye B AR @ i K g AR [ IR o == A B EERGEKR
SH19R|  %73000nsCOOLm) |0 HE 9:25.39| IARE 1= 9:26.48|#RJII B2 (3) 9:39.16|*FAx  #hifE(1) 9:44.58| )11+ BEKER(4) 9:45.06 ([ %7 3#(3) 9:55. 12|75k B A 10:00.99| Fi fh(2) 10:09.23
' RN =T S PN o R NN VNS ] L= BRASEER UNN=TE 17PN [ (- A o] Ly IR R A K I BB TR
85190 5 75000mW Hg IEEk(3) 22:21.71|IEA BEE(2) 22:33.31|3 746 1&IR(3) 23:00.89|##IFF  Fni(2) 23:02.71|HAL —BA) 23:55.25|T % 24:22.72| FJI #A(2) 24:23.32|VEAR EF(1) 24:26.19
fi] L« fo] L s R Bf fi] L« fo] (L1 s R Bf NN RS ] - ERPLE 5B BECKR 0 RERES ] - e I PN VNS
] L fE 1HAC 41.39|5 B S 41.87|15 BTk 41.90(M 1L-=2EEKE 42.09(/5 B TE S 42.18[/ - BATrEA 42.33|5 B Rk 42 46|15 BeAST /Y~ 42.60
% 1B B BRE(D) AR KEQ) K= MEAN ER #Hik®) LA FE(4) i EZEQ) mke #1731
8H19H % 7-4X100mR W s HiE Em(2) KEE #&A4(1) AR T (L BH=H(3) RKH FiHu2) BH Q) P T I1(26)
N FAE fEAQ2) (T k(1) Ak & B AR HAHG) A FE() Bl e @3) fdE FEH(35)
HAT Jtik LA fi(3) VEIC KIR3) b JIE EEHG) —% 3FW0) Er] &/EQ A1 —FH26)
BB IR B 3:18.69([ (- = HKE 3:19.20|/5 B S 3:19.31|k Bk EsE R 3:19.37|k Bk BEEE A 3:20.88|k BB T ¥R 3:21.92[1 D -k 3:25. 11|/ - i At 3:31.00
LA Fii(3) & & BN SLii(3) MHE EZQ) R BERRR2) KL EW(Q2) R gk FH(2)
8H20A % F-4X400mR 5 | ERR) ik = Find SRIR(3) BaH IFEEQ) i KHu©2) L #4) —im K& A i =H(©2)
HE E () 1Rk 3 B4 A2 W EE(2) (HHE SAREAQ) A KHHE3) W B2 A Q)
JIE 575(2) 1A TR FerdE. IERE(3) A & H @) xR KE(2) mie FHYR) xR EE P e K BEA(3)
B E(3) 2m17(F P 1EA(4) 2mll| BJII & 2m05 (Y B 5=k (4) 2mO0|fEH 5B—(3) 2m00| LA & E 1m95
=Y A PN =T CHibN [ AR B AR - T (L pH R o] Lr o] (L PR R Eugt M-y i
. EE= V() 1m95
8H20H Bk L~ [ L R
I TER 1m95
(I [-0PC
I FH(30) 4m80| A FHE(24) 4m80| 4578 5LR%(3) 4m80| LA FEAA(2) 4m60 hE BEQ 4m20|F@ 1 BLE3) 4m20
T By I KERN S =Y T 5 BeaEids I BRREER [l L R B R IR IN RSN
B ey ATH EAQ2) 4m60
8A19H T rEmE Bk B et
R 1E 4m60
[f] |LI-ENEOS
$H19H e JRRIF Rt Tm50(+3.0)|BEH HER(4)  TmHO(+1.2)(EE BEE(2)  Tm30(+2.0)|FAlE AR Tm24G1.D)EEE FHG) Tm20G+1.D|=F sFA) TmllGLD|RRR E Tm08(+2.0)[ A H [F(2) 7m05(+0.7)
W 253 TRC  ARIATCLA|E B dide ke JA gl TS ([ HJERAC B AR BIRK [ L - BRATEER (A -ERARHER I TN S PN
8H20H 7 Bk NN 15m48(+1.7)|& 1L $A%(32) 14m85(+2.0)|H 1 tHpk M4m71+1L3)ERA e 14m58(+2.4) Y55t ARR(3)  14m49(+1.D[hH &F 14ma7( 2.9k BMD  14m35(+2.5)[E &k 14m26(:2.7)
— 5 W S I BRI 7T if] 1Li-ENEOS B HR-SUNS AC ARUm21G13)| 5 - B K & B BEER T amaaslE Rk a@iumae 18| [L1-ENEOS  A@14mi7(+1.3)
SA19H| B PRI .260ke) B FHAHD 15m40|3t7k & 13m44|BIR fiz 13m34|F )1 K& 13m27 [If5AS Fnidh 13m23[H 2 A1E3) 12m40| s FEA) 11m76|mE & 11m67
' B AR-BMAC [ Ll -teamBESE (O BEEAC R Ne [ (e =2 HKE N TN Y PN [ (- A EGERR ] |li-teamBESE
sA200 | BTMAEEC.000kg) BH EEMD 44mb8 |/ R, 3E(24) 43m83|BAtRE fhiz 43m28| v B (43) 39m67| = h B 39m29|HE A HE(3) 3Tmb4|lRA FuiE 3Tm27|EEH BUE®G) 35m09
ST ISt IPN Jix 5+ TeamBigStone (A FiEEAC J~ 5+ TeamBigStone JR By TR R Ji S SRR R ] |l =ZEHKE fi] (L« i) LK
$A198 | 97wt 260k |G LA 64m85(HAMH & 56m27| LI [ENE 55mb5|fmi3E. 4E2(23) 5AmTA|R b K@) 54md4 | HHFEQ) 54m33| Bl ZEE(3) A9mAd A Sk (3) 49m36
e e BEER B AR -BMAC il |11-KND.TC Js g iR b Ji e LN HENT R ISR P NN PN [ JUM 3N R 5 Beaiits
8H19H -2 $2(800g) A —#5(33) 69m19| itk JIpk(2) 68m70(r /) At 67m09|Z<H FnfE(33) 66m89|/N1 KE(4) 64m04| )1 64mO00| i B/ (1) 64mO00| K/l K FR(3) 62m16
T By e I OKERN IS SN TN PN 5 - SR Jin By I ORAERN Jin B LN FENT K 5 B HGEIEEL ISR I SPN TN PN ORI HE




8198 4 7-100m A7 BHA] 12.02|HAT WE 12.16|A1H BEE03) 12.28| 8858 #AL(2) 12.30( - FEHI) 12.35| =% EFZ(2) 12.41|BA L3tk 12.54[EH HEIEQ) 12.70
JT.:+0.7 IRV R E: SV (0 BARZ AR B R - BEkE A BemEIT¥ES 5 e B0t & i) (- R (L H-BRE L B AR -yl
85 20H 4 7-200m A ] 24.95| K7 FEEE) 25.27|%E Wh#E®3) 25.33|fAJR E.A47(2) 25.42| 22/ HHB) 25.55| =% EPEL(2) 257 BAR B 25.86|7k B EFE(1) 26.28
Ja:+1.8 =Ry E: SV Ji B JRER ] Ly o (LR 3 N RN e Sl J B HIRKR [ (L B e K (L O-BiRE e I N e
8A19H 4 7-400m LE HH(3) 55.50[ A7 HHL(4) 56.95|bFHF 7 3E(2) 57.12| P8 1-2£03) 57.81| FH 7%EQ) 58.33|/NiE Hi1(2) 59.91| R HZ0R) 1:00.71
IS TLSON NN CPN il 1L A EE KR Jis 5 I S FE JA B fEAE A e mG RS 5 BCEEKR
85 20 4 7-800m L 750 2:09.87| {8 £)5(2) 2:10.74(#IF HHT7-(2) 2:15.10[f&% T 2:15.87| =il PIEQ) 2:18.19| A £ Q) 218.70| 11 HiJY 2:20.06] Bk —H(2) 2:20.92
s Bt AE s Bt AE N TECE S PN fif] Ly« fof] (L R B R HEE Is e E b E (L b- FEIvE S f - EELE
8519 £ F1500m 1= 22)5(2) 4:32.36 |2 ¥ A1) 4:33.29| M3 SEHE(3) 4:34.21| =08 HEEEQ) 4:38.75| )11 H Y 4:50. 15448 ¥DFE(1) 4:50.71|HA #E1-(1) 4:52.08|85)11 S43(1) 4:55.02
K Bt AR i e H [ 1l LR A B AR HEE (o B o] L o] L L ] Ly E Y 5 - Bigi¥Es
SH 19 e £5000m LI ARBRZS(2T) 17:06.67 | AR HH(22) 17:07.84|V5H  EWE(26) 17:10.54|8 £ 367@3) 18:33.69| KH 2 1-(2) 18:36.59 7K ADN(3) 18:39.85[IR & #5J4(2) 18:57.08
5 BT 4 J BT a4 s BT a4t s BeBEOR LTS o] Ly L R il - mhSE I B RO
SA19H L F100mH(0.840m) [ KA FHZR(3) 13.97|Elf Zdph(1) 14.02|[iE 7T(2) 14.06[ 1A FHHk©2) 14.11[FA % 14.36| A4 [Jh(2) 14.59|¥ )11 2HE/A(2) 14.75|E M HEAEQ) 14.90
J:+2.3 I BN B AR KtkE 5 BeaEae s e MU N =EP NN o] Ly o (L3 o] L e o] L B ARk
8H20H £ F400mH(0.762m) mAR BAG) 1:00.48 /MU Z727x(3) 1:03.21| K F kifEQ2) 1:04.76 (1L BE#P#A(Q2) 1:05.61 |4 7D %n(1) 1:05.87|Z 8 VA(2) 1:05.92| & M H%£(3) 1:06.43|F 5 TE(3) 1:06.58
' - A GRUA B JLBRRFER 5 I ERREES o] Ly i (LR H - RSP I~ B INBEES B Bk rdbE I BTN AE
$H19H £ F5000mW R A 24:20.69 | FEAE2) 25:23.43|177N T E 25:29.67|HLH A %K(1) 27:38.08 kIR =2.(3) 28:54.96
L AR GRI 11+ EEEr (O -FE kR I fE LR R [l (L -mtSEE
B B BB A8.45|1k e IR FEE 48.65|/k B TS 49.19(1 - EEm 49,31 (W 1~ Rl R 49.51 |0 1li- KB & 49.61(5 AR -B3E 49.98|l  1Lr- [ L s 50.67
M <U7(2) JBEH 2sHLA(2) T AHER(D IR IKE(D) AV FEQ) RIR F32(2) ZE ZT5(2) R PETQ)
8A19H 1eF-4X100mR ATHE H3E2) R EA4(2) B SEZRQ2) I ZALQ2) KN ZEH6©2) AKE BHI(1) Fm KAEQ) HAR HIHQ2)
HE FJh0©2) IR = =K 0)) IARE HHR(2) kR &HE©Q) HH HA0) s 2202) WEA BILER) aE BH(2)
B KB ERE(1) AL FEQ) YR EEE 1) BE #ER) BRI () Ao EEQD B JEEQ)
NI 4:00.60|5 Bk B g 4:02.82|1 1L- EB ot 4:04.13|/E5 B disr S 4:06. 16| (L1« L s 4:06.98[m 111k 4:10.50(F [L1- A Brs e 4:13.23
5k Fx®Q) a Een2) e E#E©Q) A EIEQ) IRTE HET(2) THE EuEl) % T
8H20A ZF-4X400mR FRIFL HUN2) R EA42) B HLAR(3) #IF FEQ3) HER HWIHQ2) i JEm(2) A H(2)
BGA FEIR(3) A ERQ) B F22(02) RA #2) E BEAX2) HH HA0) PEIL ZnEL(2)
IR ZEAQ ZHE DA2) Kl FE1-(2) WH H5ER) A EQ) TR Q) FRHE E0)
By NEEESE)) Tm73[JREF A 0(2) 1m66 FETEEEE T4 1m60|EES VEHL(3) Im60|& k5 B AL 1m55| T FHAE) 1mb5 (/e B W1 H &) 1Im55
$H19H e PO IN [l L sEmE =Y AN BRI K B AR Bk [ R A R = ST W ITRVAN
" MH Ea 1m66
ISEPIRIE: SN
8520 PaE— Fagh B hE(4) 3mbOEA A HhiHE(3) 3m40| = TH2) 3m20|[EE L FEhZR(2) 3mO00| =8 FHETEQ) 2m80|7rN T8(3) 2m80| & HAAE(1) 2m80|/ME& S f(2) 2m70
il L BRATER ISR SN fi] L1 3] L e B AR KiE 5B SR [ B T KREAEH 5 B HAKX o] (L1 IR EE A R
8A19H STtk R 3% 5m92(+0.6)| 5 ¥E FEML(2)  5SmT5(+2.2)|AJR KF(1)  5m70(+2.4)[/NE KBS 5m70(+0.9)|HEH HEZ(3)  5m64+2.3)|iH Il A 5me3+1.1)|AA HH()  5m37(+0.8)|FF H BEIfE(1)  5m32(+1.7)
i SR EE N Gh B L ILERER AFR5me2(+1.6)| [ L BRACTPER  A35me0(+1.9) B B SMTC IR B U mE a@smes¢1e)| [ [ - E HRE LK B A5 B B BAK
85 20H ot = Bk B EHAMD 12m07H1.8) MR HOVS  1Im76(+1.3)|E4A EWLB3)  11m69(:+2.0)[/Mk HE+ 11m58(+2.2)[[Mf8F FnZE(3)  11mb0(+0.6)[:=A YD 1m46(+1.2)| AWM T2G) 11m44(+3.8)| EH #in@3)  11m22(-0.7)
B fif] L1 A E] SR 5 B S EE R 5 BCEE W e 7e=y s ARImTCLO| K B Bt & H-SMTC B R RAbE 2R1im3oc 1| [ (L. i s
8200 | A THAEU.000ke) BRI &1(24) 11m84|BriR 3Z3E(3) 11m45| 5 ER(2) 11m16|kH 25(3) 11mO2[E M B HZEQ2) 11mOO|ILF #LJY 10m96|)11 | Zhk(3) 10mS6| = EMHE?2) 10m65
' s[5+ TeamBigStone B AR ERK I B HEE ] - E£ER [l (L AR (oL R T [ (- AR S [l BB R
8200 |  rmmeaog |PH ) 40m25| i #(1) 38m66 |t EH 37Tmo06|/NE = J5(3) 36m94| BRI B 7-(24) 36mb59| A ERE2) 36m17[kH 2 ER) 34m93|[  HifG3E (D) 34m49
T I B BRAREER R NIRS N RPN VST 5 B+ TeamBigStone I s RSN el - gk S
8190 | LFr s ~—fH4.000ke) IR ERE03) 53m18|Af F EZfE(2) 49m63|EHA EE1-(2) 49m35| & E FH(3) 46m83|{EF; 1B (4) 43mb2 Ik HE 43m49| e E=EF®B) 3Tm80|#E 1 = HE(2) 37m23
' B ORBRRTEEKR s B HEE s Bk ] 1B A I B BRAREEKR (o LpE T TS T 5 BeaEits
8519 LRV EHE008) B FiBR(2) 45m32| %M HE#] 42m05|/Mk 8543(2) 41m85 | 1EZ(3) 40m95 A E 1E32(2) 40m86|HAFf A& 40m12|1iH FFHF T 39m75|ARE EARQ) 39m28
IIEE N PN (1 e /N 5 e BEogdbE fi] L1 ] 1L B NN -TN-SN [ (L -KND.TC =RE =R T B OR- KtE

MBI GRiRSFLe




